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QUESTION 1

Which of the following HTTP methods is NOT supported by the web scripts framework by default?
A. PUT

B. GET

C. DELETE

D. OPTIONS

Correct Answer: C

HTTP methods is NOT supported by the web scripts framework by default

QUESTION 2

Which of the following APIs facilitate the development of a remote client that can access both Cloud and On-Premise
Alfresco Content Services repositories? (Choose two.)

A. Repository JavaScript API

B. FreeMarker Template API

C. Alfresco Content Services API
D. Public Java API

E. CMIS API

Correct Answer: AE

QUESTION 3

After uploading a new document format to Alfresco Content Services, you notice that it isn\\'t showing up in the full-text
search results. Which action might help you understand why?

A. Use Luke to check the index for the document UUID, then check the index state of that UUID.

B. Look at the list of registered transformers to make sure the mime type of the uploaded document is transformable to
text.

C. Verify the content model to make sure it was properly loaded into the repository.
D. Inspect the current upload script, we need to manually add the indexing for new mime types there.

Correct Answer: B
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QUESTION 4

The embedded Activity in Alfresco Content Services provides different types of tasks in a process definition. Which one
is NOT a provided task?

A. userTask.

B. processTask.
C. scriptTask.
D. mailTask.

Correct Answer: B

QUESTION 5

What does the JavaScript ScriptNode API expression "node.assocs" do?

A. Returns a complete read only list of all associations.

B. Returns the list of all associations which can be changes and modified.
C. Returns the list of child associations which are read only.

D. Returns the list of child associations which can be changes and modified.

Correct Answer: A

QUESTION 6

When designing a content model in Alfresco Content Services you realize that the content model needs to refer to
definitions that reside in another existing content model. How is the reference established?

A. Alfresco will automatically be aware of the existing definitions.

B. We need to Import the namespace of the content model within which those definitions are created.

C. The repository does not allow a content model to reference definitions that reside on another content model.
D. We need to merge the two content models into a single content model.

Correct Answer: C

QUESTION 7

When running the following CMIS query "SELECT * FROM cmis:document WHERE CONTAINS( zebra\\')", what result
would be returned?

A. All document objects with the word “zebra\\' in the name, title or description properties
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B. All document objects with the word “zebra\\' in the full text content.

C. All document objects with the word “zebra\\' in the description property only.

D. All document objects with the word “zebra\\' in the title property.

E. All document objects with the word “zebra\\' in the name property.

Correct Answer: B

References: https://books.google.com.pk/books?id=aCAHMyCi38ECandpg=PT531andlpg=PT531anddq=alfresco
+SELECT+*+FROM
+cmis:documentandsource=blandots=QEKmXF6kZtandsig=u3YgzKI45_liPG8DtmqY4_t80T0andhl=enandsa=Xandved

=2ahUKEwWjU1bCb60XdAhVBdhoKHS69BgQQ6AEWANOECACQAQ#v=0onepageandg=alfresco%20SELECT
%20*%20FROM%20cmis% 3Adocumentandf=false

QUESTION 8

Which of the following correctly describes the behavior of CMIS properties?
A. Properties can be single or multi-valued.

B. Properties can be shared between objects.

C. Properties are untyped.

D. Properties are explicitly ordered.

Correct Answer: B

QUESTION 9

What is the default value of the element of a web script descriptor, if one is not specified?

A. None.

B. None for GET Web Scripts, "required"” for POST/PUT.

C. Required.

D. Depends on the value of

Correct Answer: A

None specifies that no transaction is required to run the web script. This is the default value if the transaction level is not

explicitly specified, and the authentication level is none. If the authentication level is not none then the default value is
required.

QUESTION 10

You have created a Dashlet for Alfresco Share and deployed your files to the correct directory. You have then refreshed

ACSCE-5X PDF Dumps | ACSCE-5X Practice Test | ACSCE-5X Exam Questions 4/6


https://www.pass4itsure.com/acsce-5x.html
https://www.pass4itsure.com/acsce-5x.html
https://www.pass4itsure.com/acsce-5x.html

VCE & PDF https://www.pass4itsure.com/acsce-5x.html
a 2024 Latest passditsure ACSCE-5X PDF and VCE dumps Download
== / PassditSure.com

the Share web scripts, but the number of web scripts stays the same. Which of the following options could be causing
this?

A. You are using Internet Explorer; you should be using Firefox.

B. Share needs to be restarted, refreshing web scripts is not enough.
C. Your files do not adhere to the standard naming convention.

D. The cache on the browser needs to be cleared.

E. You did not register the dashlet with the data dictionary.

Correct Answer: D

QUESTION 11

What is the purpose of a content policy?

A. To allow for model constraints, such as LIST or ENUM constraints.
B. To initiate Java code in response to predefined events.

C. To limit which user/group can create certain types of content.

D. To validate content against a strict model XSD.

Correct Answer: B

QUESTION 12

What does the CMIS object model not support?
A. versioning

B. workflow

C. policy

D. document

Correct Answer: B

QUESTION 13

A scheduled job can execute a piece of logic either by itself or wrapped inside a repository action. What is the benefit of
defining a template action for the scheduled job?

A. The job can execute a logic that is not related specifically to a node.

B. The job can execute a logic multiple times, once for each node returned by a query.

ACSCE-5X PDF Dumps | ACSCE-5X Practice Test | ACSCE-5X Exam Questions 5/6


https://www.pass4itsure.com/acsce-5x.html
https://www.pass4itsure.com/acsce-5x.html
https://www.pass4itsure.com/acsce-5x.html

. VCE & PDF https://www.pass4itsure.com/acsce-5x.html
a 2024 Latest passditsure ACSCE-5X PDF and VCE dumps Download

— PassditSure.com

C. The job can execute a logic only once and does a mass update of nodes returned by a query.
D. The job can execute a logic multiple times on the same specific node.

Correct Answer: D

QUESTION 14
Which approaches can be used to define a set of reusable metadata fields? (Choose two.)
A. Define a datalist with the required properties and assign the datalist to each type or aspect through an association.

B. Define a global type which holds the common properties, then define an association from each type requiring the
properties back to the global type.

C. Define and use the same property names in the different types that need those fields.

D. Define a base type which holds the common properties and have all the types that need those fields inherit from the
base type.

E. Create an aspect and apply it as a mandatory aspect to all the types which need the properties.

Correct Answer: DE

QUESTION 15

How should Smart Folders be identified and recognized?

A. Smart Folders should be recognized by their type smf.smartFolder

B. Smart Folders should be recognized by parent-child type used smf:.contains

C. Smart Folders should be recognized by their aspect smf:smartFolder

D. Smart Folders should be recognized by the special node reference used.

E. Smart Folders cannot be recognized as they are not different from any other cm:folder.
Correct Answer: D

References: https://docs.alfresco.com/6.0/references/sf-tech-fags.html
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